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1 2,668 ~ 65 =

260 ///, 848 + 682 =

2| 848 +~ /6 =

27

§2,5/6 /76 =

3|1 /,860 +~ 37 =

28

683,400 +~ 720 =

4| &£,06% +~ &% =

29

374,544 + 408 =

51 3,7/3 + 47 = 0| 80,20/ +~ 3/7 =
6|/, 724 + 52 = 3N| 4,798,440 + 648 =
113/8 + 2/ = 32| 8,725,384 + 732 =
814,766 ~ &6 = 3B 228,682 ~ /07 =

91 /,760 +~ 70 = M| 7,444,077/ 873 =
10( 5,766 ~ 73 = 3| /,/87,562 ~ 774 =
N /9,474 + 3% = 36| 2,2/ 4,702 + 567 =

12 53,/79 ~7/ =

37

/,/ 72,920 - 280 =

B 37,323 + 39 =

38

3,88/, 4% + 456 =

14 5,076 +~ 28 =

39

/,688,6/0 + 30/ =

15[ 37,076 ~ 72 =

40

778,878 + /25 =

16| 4,800 ~ /8 =

4

20,077,402 + 2,483 =

171 24,/ 60 + 40 =

42

70,307,000 + 7,304 =

18| 48,/ 4% + 57 =

43

3.43/,403 + /,547 =

191 20,2/0 +~ &6 =

44

7,663,370 +~ 7,095 =

20| 44,766 + &7 =

45

7/,030,60% + &,/546 =

20| 204,32/ + 403 =

46

44,/86,760 + 6,872 =

22| /57,450 + 238 =

47

27,/977,060 + 3,620 =

| 85/38,8/% + 567 =

48

/2,296,702 + 4,037 =

24| 292,/39 + 75/ =

49

48,588,078 ~ 7,2/8 =
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117/ X 62 = 26 /93 X 6/2 =

21 23 X 50 = 21| 2546 X 385 =

3| 47 X /4 = 8| $/4 X 8346 =

41 48 X 29 = 29| 679 X /74 =

5150 X 4& = 30| 348 X £23 =

6| /4 X &5 = 31 4,087 X 732 =

1192 X 32 = 2 9,734 x 780 =

8|89 X 67 = B[ 5,9/0 X 445 =

9| 45 X 73 = M| #£,/28 X £§27 =

10| 3& X 7/ = B[ £,345 X S50/ =

11 620 X 72 = 36| 2,047 X 6/9 =

12 20/ X 78 = 37 /,203 X 374 =

13| S47 X 49 = 8| 7,554 X 504 =

14 /07 X &% = 9| 3,87/ X 243 =

15| 4346 X 3/ = 0| 4,472 X /98 =

16| /85& X S0 = M| 4,085 X 6,073 =

171 972 X &3 = 42| 7,753 X 4,20/ =

18| £45 X &7 = 431 2,/04% X 2,736 =

19| 783 X 24 = 44 7,9/6 X 4,6/9 =

20374 x /5 = 45 £,068 X /,5467 =

21| 74/ x 509 = 46| 5,397 X &,/90 =

22| 420 X 247 = a1 &£,27/ X 7,308 =

B £02 x 70/ = 88 /,539 X 5,842 =

24| 737 X 270 = 49| 3,620 X 9,254 =

25| 08 X #4468 = 50| 4,842 X 3,785 =

25| 727,/ 68 +~ 874 =

50

27,488,478 + 8,94/ =
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F 1 Abacus Circuit [(BATA1RE2 A |- ZFAFAI1E1A m] =4
No. 1 2 3 4 5 6 7 8 9 10
1 73 70 43 40 7/ 74 7Y &4 48 &0
2 E¥ 28 56 /2 32 s 67 —34 &7 b4
3 57 &3 &7 78 &% &5 23 S7 35 —/3
4 /8 /5 20 73 &0 —&4 37 78 246 %47
5 62 -4/ /¥ —49 N 37 75 70 /0 -7/
6 %47 —74 72 -4/ 27 20 30 —49 73 75
7 30 20 &0 &7 73 —7/ £/ &/ 67 32
&t
No. 11 12 13 14 15 16 17 18 19 20
1 S0 78 &0 60 7/ &7 /0 /N &% &0
2 /3 37 77 %49 /é /¥ 75 37 56 73
3 3é 2/ N) 70 &0 —94 70 /0 72 76
4 ) 30 3/ &3 b4 68 62 77 20 /7
5 &0 42 53 —72 38 S/ &7 —4& 37 57
6 79 /¥ L4 /8 %47 —30 /¥ 20 75 —2L4
7 6/ —&7 /2 -2/ 75 25 53 /¥ 43 —-&0
8 E¥ —465 70 —34 20 -79 27 —&3 &0 3/
9 72 —74 &4 S¥4 53 42 36 —32 /7 42
10 27 S0 67 75 27 30 ‘4 74 &/ 45
Hi
No. 21 22 23 24 25 26 27 28 29 30
1 329 775 SL¥ /77 38/ 247 /&0 §67 440 640
2 S$38 §/¥ /37 ES5Y¥ 530 S/ &/ 2 438 385 708
3 27/ 70/ 403 620 798 /07 Y4 —30% 2% 3/2
4 407 —459 78/ 473 472 468 263 /53 7468 —72/
5 762 S84 &60 —205 236 —4653 527 260 S5/3 /73
Hi
No. 31 32 33 34 35 36 37 38 39 40
1 472 365 470 0% 756 748 659 740 LY 25/
2 S/8 520 752 —/&5 28/ 374 237 702 34/ &7
3 45 —493 §346 427 778 /02 /40 24/ 425 834
4 §90 708 /93 —3746 Sé¥ —453 795 —&/4 /78 489
5 324 /3% “4/5 2/0 530 562 /68 387 4603 /70
6 /69 —249 528 E47 493 8§30 482 475 &7/ —4623
7 2/0 7/2 78/ S5/3 /07 /87 S4%/ 760 602 786
8 306 &S5/ 270 685 b2/ —267 320 —3528 530 —409
9 778 —760 0% —790 409 &7/ 706 %437 757 7/2
10 753 678 347 732 325 705 8§73 —/53 78 & 305
Hi
No. 41 42 43 44 45 46 47 48 49 50
1 568 760 20/ S5/0 /64 23/ 23/ 4650 770 /67
2 7064 §0é 744 759 759 3580 708 —39& /38 3/4
3 235 —45/ 302 —4602 3/2 405 7/9 735 369 720
4 623 473 787 /53 S06 §Lé S72 &§70 S0/ —26/
5 3/7 S5/ /58 738 653 —757 /2% L0% 798 508
6 405 —4357 703 —/03 48/ —5854 27/ —85467 643 362
7 792 —/ 25 &/7 469 7463 —407 309 —S844 776 —27%
8 /87 5§63 495 790 34 792 682 730 420 35
9 §06 27/ 268 —405 34/ /9 750 5§02 78/ —427
10 477 —480 529 782 4690 378 S/ ¥ 470 0¥ —/7&
11 230 3497 4630 547 572 /58 370 /297 /397 —S549
12 723 —7/2 F42 &78 207 —70% 495 —7 854 275 7/0
13 57/ 708 758 —23Y¥ /26 —&/2 768 —4698 3/7 706
14 LS5 S43 /¥ /4& S09 4463 /44 2/3 528 683
15 386 706 70/ —32/ 785 230 §L3 375 5350 S5/0
&t
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X = F1 B ILBEHRE
1 4402 |26 118,116 |[ 1 41 [ 26 164 -
2 4131 |27 319,928 || 2 59 | 27 195 1 H
3 4,988 |28 107,300 || 3 31 |28 543
4 2,944 |29 327,972 || 4 25 | 29 602
5 2,775 | 30 175,508 || 5 61 |30 831 17
6 8,730 |31 2,773,705 |[ 6 38 [31] 4190|[ 1§ 393 [21] 2507 [41] 8022
7 1872 |32 7,398,732 |[ 7 94 |32} 1,968 |[ 2 99 |221 2815 [42] 4372
8 1,500 |33 653,653 || 8 40 |331 974631 374 (23] 2705 |43/ 8001
9 384 |34 2,741,376 |[ 9 86 341 620541 200 [24] 1861 |44} 4326
10 1,767 |35 2,980,885 |[ 10 17 |35f 7852 5! 414|251 2357 [451 7932
11 12,978 | 36 2,661,680 [[111 469 |36% 8403 6: 127 |26 732 [467 1,013
12 6,672 |37 2295108 ||12! 642 |37} 3074 7! 389 |27 2286 [47] 7882
13 6,944 |38 1,652,838 [|131 173 |38} 253181 289 [28f 1416|481 1875
14 48,360 |39 1,002,430 |[14] 501 39! 5287 9i 348 20} 2750 |49} 8329
15 33,150 |40 7,425,008 || 15! 830 [40f 6,319 [|10! 194 |30f 1,312 [50! 4,006
16 51,660 |41 45691159 [[161 318 [41} 7,956 |[11] 567 |31} 5265
17 52,256 | 42 2,343,192 |17} 524 |42! 1,260 |[12 66 |32} 2,666
18 15,936 |43 42,279,150 ||18! 207 (43} 3,741 [[13! 567 |33! 5598
19 76,285 |44 33,223,982 [[19] 986 |44} 4037 |{14} 300 |34] 2869
20 37,278 | 45 22646844 (1201 795 |45 5123 (115! 513 |35! 5364
21 241101 | 46 38,242,996 [[21] 967 467 4089 |[16] 112 [36! 2,021
22 297,387 |47 10,686,107 [[221 284 (471 9578|171 504 [37] 5121
23 681,030 |48 38,292,374 [|23] 716 48] 2894 |{18] 138 |38 2847
24 97,034 |49 16,933,420 |24} 508 [49! 860219} 567 [39] 5607
25 118,820 |50 17,486,250 [|25¢ 320 |50f 6,315 [|201 207 [40i 2214

X = F1 B ILBEHRE
1 7,068 | 26 524,480 |[ 1 52 [ 26 602 -
2 4,131 |27 319928 |21 59 [270 195 % 2 ||
3 4,988 |28 107,300 || 3 31 |28 543
4 2,944 |29 327,972 || 4 25 |29 602
5 2,775 | 30 175,508 || 5 61 |30 831 B
6 8,730 |31 2,773,705 |[ 6 38 [31] 419011 358211 273141} 7,578
7 1872 |32 7,398,732 || 7 94 |32 1,968 |[21 148 22! 1240 |42} 2,256
8 1,500 |33 653,653 |[ 8 40 (33} 9746 ([ 3! 495 |23! 2836 (43} 7,845
9 384 |34 2,741,376 || 9 86 |34 6,205 || 4 74 |24} 1,147 |44} 3764
10 1,767 |35 2,980,885 |[ 10 17 |35! 785251 203 |25 2227 ]45! 8039
11 12,978 | 36 2,661,680 |[11] 469 |36} 8403 6! 136 |26} 1,627 [46] 3,035
12 6,672 |37 2295108 |[12} 642 |37) 307471 434|271 2848|470 7821
13 6,944 | 38 1,652,838 |[131 173 38! 253181 186 28] 1847 |48 4203
14 48,360 |39 1,002,430 [|14! 501 |39} 5287 9! 300 [29} 1,632 |49} 7.684
15 33,150 |40 7,425,008 || 151 830 [40f 6,319 [|10! 233 |30f 1,740 [50! 4373
16 51,660 |41 45691,159 ||16! 318 [41] 7,956 [[11} 522 [31] 5661
17 52,256 |42 2343192 |[17} 524 |42! 1260 (|12} 205 |32} 1548
18 15,936 |43 42,279,150 ||181 207 [43i 3,741 [[13} 522 |33i 5859
19 76,285 | 44 33,223,982 [[19! 986 |44} 4037 |{14} 307 |34! 4032
20 37,278 |45 22,646,844 [[20f 795 |45! 5123 |[15f 576 |35! 5184
21 241,101 |46 38,242,996 [[21} 967 |461 4089 |[16] 272 |36} 1794
22 297,387 | 47 10,686,107 [|221 284 |47} 9578 |17} 540 |37} 5724
23 681,030 |48 38,292,374 [|23] 716 |48} 2,894 [|18] 192 |38} 3228
24 97,034 |49 16,933,420 |24} 508 |49} 8602 (191 567 [39} 5067
25 118,820 | 50 17,486,250 |[25¢ 320 [50! 6,315 |[20f 343 [40] 1508
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X = F1 HUILBEHRE
1 2,856 | 26 673,190 || 1 86 [ 26 108 -
2 4131 |27 319,928 |[ 2 59 |27 195 3 A
3 4988 |28 107,300 || 3 31 |28 543
4 2,944 |29 327,972 || 4 25 |29 602
5 2,775 | 30 175,508 || 5 61 |30 831 Iz
6 8,730 | 31 2,773,705 || 6 38 (311 4190 |[17 376 [21] 20893 [41] 8344
7 1872 |32 7,398,732 || 7 94 |321 196821 125 (221 1599 |42} 3,754
8 1,500 | 33 653,653 || 8 40 |33 9746 3% 448 |23 3514 |43} 8795
9 384 | 34 2741376 || 9 86 |34 62054 235|24] 1120 [44] 2252
10 1,767 | 35 2,980,885 |10 17 {35! 7852[51 393 [25! 2133 |45( 8505
11 12,978 | 36 2,661,680 [[11} 469 |36% 8403 [ 6! 129 |26! 2393 |46} 4,049
12 6,672 |37 2295108 [[12! 642 [37] 3074 7! 341|271 2787 |47} 8594
13 6,944 |38 1,652,838 [|131 173 |38} 2531 | 8% 158 |28} 1,150 |48} 2,886
14 48,360 |39 1,002,430 |14 501 |39} 5287 9% 379 |20} 2461 |49} 7943
15 33,150 | 40 7425008 [|15! 830 40! 6,319 10! 143 |30} 2235 |50f 3,393
16 51,660 | 41 45691159 |[16f 318 |41} 7956 |[11] 540 [31] 5211
17 52,256 |42 2,343,192 ||17! 524 |42} 1260 [|12] 167 |32} 2,876
18 15,936 |43 42279150 [[18§ 207 |43} 3741 |[13] 522 |33} 5274
19 76,285 |44 33223982 [[19] 986 |44} 4,037 |[14] 301 |34] 2531
20 37,278 |45 22,646,844 ||20! 795 [45! 5123 [|15! 513 [35! 5301
21 241,101 | 46 38,242,996 [[21] 967 |46} 4,089 |[16] 119 [36] 1324
221 297,387 |47 10,686,107 ||221 284 |47i 9578 |17} 531 |37} 5,166
23} 681,030 |48 38,292,374 [|23] 716 |48} 2,894 |[18] 420 |38! 2921
24 97,034 |49 16,933,420 ||24! 508 |49! 860219} 567 |39} 5571
25 118,820 | 50 17,486,250 [|25: 320 |50i 6,315 |20 42 |40i 3268

X = F1 Y ILBERE
1 5,624 | 26 88,844 |1 83 [ 26 402 el
2 4,131 |27 319928 |2} 59 |27 195 % 4 (|
3 4,988 |28 107,300 || 3 31 |28 543
4 2,944 |29 327,972 || 4 25 | 29 602
5 2,775 |30 175,508 || 5 61 |30 831 B
6 8,730 |31 2773705 || 6 38 |31 419011 400 [21] 2960 [41] 9,059
7 1,872 |32 7,398,732 || 7 94 |321 1968 |[ 2 81 |221 2482|421 4216
8 1,500 | 33 653,653 || 8 40 |33 9746 3{ 337 |23} 3269 |43} 7127
9 384 | 34 2,741,376 || 9 86 |341 620541 174 |24] 2149 [44] 3421
10 1,767 | 35 2,980,885 |10 17 {35! 785251 412|250 3377 |45 7432
11 12,978 | 36 2661680 |[11] 469 [36! 8403 6! 303 (26! 2241 |46] 3,008
12 6,672 |37 2295108 |12} 642 |37} 3074| 7! 332|271 2947 |47} 7383
13 6,944 |38 1,652,838 [|131 173 |38 25318 91 |28f 1924 |48} 3220
14 48,360 |39 1,002,430 |14} 501 (39! 5287 9! 360 |20} 2802 49! 8374
15 33,150 | 40 7425008 [|15! 830 40! 6,319 [[101 240 |30} 2359 |50! 2,106
16 51,660 |41 45691,159 [[161 318 [41] 7,956 [[11} 540 [31] 5166
17 52,256 |42 2343192 |[17] 524 [42! 1260 [|12] 251 |32 658
18 15,936 |43 42,279,150 [|[181 207 |43} 3,741 {13} 513 |33] 5094
19 76,285 |44 33223982 (19! 986 [44! 4037 [|14] 220 34! 3611
20 37,278 |45 22,646,844 [|20f 795 |45 5123 [l15! 513 |35! 5238
21 241,101 | 46 38,242,996 (211 967 [46] 4,089 [[16] 162 36} 3.271
22{ 297,387 |47 10,686,107 |22} 284 [477 9578 |17 549 (37} 5571
23} 681,030 |48 38,292,374 (23] 716 [48] 2,894 |18} 208 [38! 1,607
24 97,034 |49 16,933,420 [[241 508 [49i 8602 (19! 540 |39} 5418
25 118,820 |50 17,486,250 [|25! 320 |50f 6,315 |20 338 |40} 2444






